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IBPS PO PHASE-I MOCK TEST-57 (SOLUTION) )

REASONING (6-10) :
(4) V - India Today (H)

Q - Outlook (E)
X @ T - Frontline

P - BusinessWorld /IndianTeday (E)/ Out‘l/ook (H) / Sports—Star

« S - India Today (E) /-Sutleek{H}
@ U - Indian-Teday (E) /Sports Star

W - Business World / India Today (E)/-Outleok (H) / The Wee

Conclusions : / SportsStar
L _ R- Busir‘l/ess World / IndiaTeday (E) /-Sperts-Star
I. = |Either I or IV
111 |/:| W _V
v. -

R—pr) (E=0) T-U

" 6. (3 7. (3 8 (5
o @@ o @ . 10@ @
1

2. (4) Since the code number starts with $ and
ends with @, it implies that first digit of
the number will be even whereas the last
digit will be odd. Is the above information
sufficient to find out the number ?

Conclusions :
I. v II. v
III. v v. v

4 Answer is ‘No’. Hence ‘Data inadequate’.
“ ‘W) 13. (3) 14. (1) 15. 4)
v (31-35) :
Assign a number for every word, you will find it
easy to solve.
‘ Input: 1234567
StepI: 5126347
StepII: 5237164
. Step III : 5162437
Conclusions : StepIV: 3217465
L - and so on, thus steps V is like step L.
| Step V: 43261735
a - . Step VI : 4215367
1v. ——]Either Il or IV Stell; VII: 4362715
StepVIII: 1235764
N\, StepIX: 712635 4
(4) @ @‘@ StepX: 7234165
16. 4) 17. (1) 18. (2)
Conclusions : 19. (3) 20. (3)
I A ) (21 -25):
Either I or IV
gl :ﬁEither IT or III TWCS‘E
v. -
_
T T 1T T T 1
R QP STUV W
@ 21. (3) 22. (5) 23. (1)
24. (3)
25. (5 I=21
Conclusions : 0=15
I. v~ . v 21-15=6"_. _
. v - 8_-3=5 Difference = 1

except (5), all are same.
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(26-30) :
e« —P>0Q
© —P>Q
$ —P=Q
# —P<Q
@ —P=<Q
26. (1) Statement :
T>U>R>Q
Conclusion :
I. T>Q (L) II. R<T(x)
27. (4) Statement :
B>H>J>C
Conclusion :
I. B>C(x) II. C<H (x)
28. (2) Statement :
T>Q>X<W
Conclusion :
I. W=Q(-) II. X< T (L)
29. (5) Statement :
Z=Y<A<B
Conclusion :
I. A>Z(L) II.Y<B (L)
30. (3) Statement :
K>L=0>N
Conclusion :
%I k >= 1]\_Il:|-Either Torll
(31-35):
Locality | Person Occupation Religion
S B Lawyer Sikh
Businessman .
S D Hindu
(cloth merchant)
P C Doctor Christian
R E Engineer Muslim
Businessman .
Q A Hindu
(runs factory)
31. (2) 32. (3) 33. (1)
34. (5) 35. (4)
MATHS
36. (3) (?)2=63.9872 x 9449. 8780 + 243.0034
(?)? = 64 x 9450 + 240
22— 64 x 9450 _ 9590
240
2= 3520 ~ 50

37.

38.

39.
40.

41.

42.

43.

Ph: O955510888S8,

(4) ? = 5237.897 - 6629.010 + 7153.999 -
2205.102

~ 5238 - 6629 + 7154 — 2205
= (5238 + 7154) — (6629 + 2205)
= 12392 - 8834 = 3558

(2) ?=4985.0346 = 215.987 -3768.112 -
206.868

~ 4985 = 216 - 3768 = 207
=23.078 - 18.202
=4876~5

(1) ? V956240 ~ 977.8 ~ 979

(5) ? = 459% of 849.947 + 266% of 6284.012
- 1486.002

~ 460 x 850 . 266 ° 6285
- 100 100
~ 3910 + 16718 — 1486
=19142 ~ 19130

(5) Number of people in Teaching profession

- 1486

SO 25000 = 7500
100 -

Number of people in Medical profession

0
=100 x 25000 = 2500

7500
[1 Reqd% = 5500 x 100 = 300%

(3) Total numbers of males in Banking and
Medical professions

= 25000 x 20 00, 25000 x
- 100~ 100

X

100
40

100

= 3000 + 1000 = 4000

The total number of females in Medical
and Banking profession = 10% of 60% of
25000 + 20% of 40% of 25000 = 1500 +
2000 = 3500

. 40
[l Reqdratio= -——=—-=8:7

(3) Females in Engineering professions

25000 x 25 x 79
100 100

Males in Banking profession

60
X —
100

=4375

20
25000 x ——

100 = 3000

4375
R o) — %
€qd% = 3500

099S55208888

x100 = 145.83 y» 146%
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44,

45.

46.

47.

48.

49.

(3) Number of males in Banking and

O

Medical = 20% of 60% of 25000 + 10% of
40% of 25000 = 3000 + 1000 = 4000

Number of females in Law and Teaching

15 y 20 x 25000 + 30 60
100 100 100 100
25000 = 5250

Reqd ratio = 4990 _16 _ 16: 21

eqd ratio = 5250 21 12

(1) Number of females in Engineering

profession = 25% of 70% of 25000 = 4375
Number of males in Law profession
=15% of 80% of 25000 = 3000

4375 - 3000 y

o/ =
Reqd % 3000 100
_ 1375 100-45.83, 46%
3000 o0 ?

(3) The pattern is :

150 x2-1x 10

=300-10 =290

290 x 2 -2 x10

=580 -20 =560

560 x2-3x10=1120-30
=1090 « 1120

1090 x 2 -4 x 10 =2180-40 = 2140
2140 x2 -5 % 10 =4280 - 50 = 4230
4230 x 2 -6 x 10 = 8400

(2) The patternis: 10x 1-2=38

8x2-3=13

13x3-4=35
35x4-5=135
135x5-6=675-6

=669 » 671

669 x 6 -7 =4014 - 7 = 4007

(3) The pattern is :

(80 + 2) +2 =40 +2 =42
(42 =+ 2) +2=21+2=23 .24
(23 +2)+2=11.5+2=13.5
(13.5 = 2) +2=6.75+ 2 = 8.75
(8.75 = 2) +2=4.375+ 2 = 6.375
(6.375+2) + 2 =5.1875

(1) The pattern is :

125><§—75
-

75><§—45
-

3
45><§=27¢25

50.

51.

52.

53.

54.
55.

Ph: O955510888S8,

()

Uy

099S55208888

3
27 x 5 = 16.2
3
16.2 x 5 = 9.72
3
9.72 % 5 5.832

The pattern is :

20+ 1x8=37
37-2x8=37-16=21
21+3x8=21+24=45 43
45-4x8=45-32=13
13+5x8=13+40 =253
53-6x8=53-48=35

SIx100

Rate = Principal x Time
_10230x100 12.4%
©27500x3 T

R T
N I+—| -1
i)
@+9ﬁf_1

~ 27500 (1.42- 1)
=27500 x 0.42

=3 11550

According to question,
6500%95

100 =% 06175

Selling Price =

175
F x 100
=3 5269.56 ~ ¥ 5369
Side of the square = /1024 = 32 cm.

2 x 32 = 64 cm.

Cost Price =

Length of rectangle =
Breadth of rectangle
=32-12=20cm.
Required ratio =64 :20=16:5
°C, 10

7c2 = E

Four years ago,

Shyam : Ram =3 : 4

After four years,

3x+8 5

4x+8 6

20x+40=18x+48
2x=48-40=8

2oy
*73

Shyam’s present age = 3x + 4
=3 x4+ 4 =16years
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56.

57.

58.

(1) According to question,
1000x5x%x10
100
Now,P =% 1500, A =% 2000

SI =% 500

500x100 _ 2
1500x5  °3 Yyears

SI for 10 years = =3 500

Now, T =

2
Total time = 165 years

2x5
(3) 2 kmph = 18 m/s.

= gm/s.
4x5
and 4 kmph = ——m/s.
18
_10
=9 m/s.

Let the length of the train be x m and
its speed be y m/s. Then,

10 (9y - 10) = 9x

90y -9x=100 ......... (ii)

By equation (i) X 10 — equation (ii), we
have

U U

90y -10x =50
90y -9x =100
- 4 -

=-50

- X

= x=50m
(3) According to question,

A B C
Efficiency 3 : 2 6
No. of days 2 3 1

= Number of days taken by A = 12,
Number of days taken by B =18
and Number of days taken by C = 6

5
1 day’s work of (A + B) = 36

Ph:

09555108888,

8
1 day’s work of (B + C) = 36

9
1 day’s work of (C + A) = 36

In 5 days total work done

5 8 9 5 8 35
=— + — 4+ — + — + —

36 36 36 36 36 36
Now, the rest of the work

(z’e,%) is done by AC

Number of days taken by AC for the rest
hld

of the work = % =
36

O | —

Therefore, total time taken to complete
1 1
the work = 5 + 9 55 days
59. (1) 2A 30
3B 20 60
6C 10
ABC discharge chemical in 1 min = 6 +
3+2=11.

6x3 6

11x3 11

So, proportion of R =

60. (3) According to question, Requrired
number of ways = 4°

Total number of students who appeared

80000
100

61. (3)

11
(27 x - +24

from Rural area = 57

x§+16x1+15xi+18xl
8 16 12 18)

=800 %x{11+9+7+6.25+7}

=800 x 40.25 = 32200

Total number of students who appeared
5

24
from State B = 80000 x ﬁ x g

62. (4)

= 12000
Total number of Urban students who
succeeded from State B

= 24000 x 212 = 2880
- 100 7

[0 Difference = 12000 - 2880 = 9120

099S55208888




£0

KD Campus
2007, OUTRAM LINES, 1ST FLOOR, OPPOSITE MUKHERJEE NAGAR POLICE STATION, DELHI-110009

63. (2)
64. (5)
65. (1)

O
66.

67.

68.

Total number of students from Rural
area who appeared from State B

= 80000 x 24 .3 = 7200
- 100 ~ 8

Total number of Rural students who
succeeded from State B

3
= 24000 x 100 <7 2160
22160 , O,
Reqd% = §-505 100:% =30%
80000 5716, 54 5.16" 2 415° L11g- 110
100" 5 1 27 8 16 12 18§

=160x {16 +15+9+8.75+ 11}

=160 x 59.75 = 9560

Number of students from Rural areas
who succeeded from State A

24000 82 15 3600
= X —— X—— =
100 32

Number of Urban students who
succeeded from state E

_ 24000 x = %21 _ 5640

- 100 15

Ready, - (3600~ 2640) _ 9600
eqdre = 2640 " 264

~ 36.36% = 36%

(2) L. 42— 32x + 63 = 0

=
=
=

N

U

(2)

=
IT.

=

=

4x2 - 14x-18x+63 =0
2x(2x-7)-9 (2x-7)=0
(2x-7)(2x-9)=0

7 9
x=5ory
2y?’- 11y +15=0
2y°—-6y-5Sy+15=0
2y(y-3)=-5(y=3)=0
y-3)(y-5=0

5)

y=3or 5
Clearly, x > y

I. 3= (216)%X3= 216

x=3216=6

617 = 150

Clearly, x > y

(1) 1. 12x% + 17x+ 6=0

=

12X+ 9x+8x+6=0

=
=

N S

U

3x(4x+3)+2(4x+3)=0

4x+3)(Bx+2)=0
_ 3,2
x=-gor-7

6y*+5y+1=0
6y*+2y+3y+1=0
2y By+1)+1By+1)=0
By+1)(Ry+1)=0

1 1
y=-zor-5
Clearly, x <y

69. (3)1.20x*+9x+1=0
= 20X+5x+4x+1=0
= S5x“4x+1)+1@4x+1)=0
= (@x+1)(5x+1)=0
1 1
= X=-gor-o
II. 30y?+11y+1=0
= 30y?+6y+5Sy+1=0
= o6y (dSy+1)+1(5y+1)=0
= (Sy+1)(6y+1)=0
1 1
= Y= —g or —g
Clearly, x < y
70. AL 2+17x+72=0
= X¥+8x+9x+72=0
= x(x+8+9(x+8)=0
= (x+9)(x+8)=0
= x=-9o0r-8
II. y*+19y+90=0
= y*+10y+9y+90=0
= yYyly+10)+9(y+10)=0
= (Y+9(y+10)=0
= y=-9or-10
Clearly, x >y
ENGLISH LANGUAGE
71. (1) 72. (2) 73. (3)
74. 4) 75. (1) 76. (2)
77. (4) 78. (3) 79. (1)
80. (9)
(91-95) : (CFAEBD)
91. (1) 92. (3) 93. (9)
94. (3) 95. (B)
96. (2)
97. (3)
98. (4)
99. (1)
200. (5)

Ph: O955510888S8,
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VOCABULARIES

]

Word
Erring

Apex court

Interest

Exempt

Disclosure
Circumspection
Scrutiny
Counter-productive
Commendable
Prerogative

Interference

Constraints

Intervene

Extorts

Indiscretion

Demiurge

Credo

Paradox

Surfeit
Recrudescence
Adumbrate
Obfuscate
Monolithic
Persuasion
Pre-requisite

Exceptional

Ph: O955510888S8,

Meaning in English
Deserving blame

The supreme court within the hierarchy of any legal

jurisdictions.

A reason for wanting something done

Free (a person or organization) from an obligation or
liability imposed on others.

The action of making new or secret information known
The quality of being wary and unwilling to take risks;
Critical observation or examination.

Having the opposite of the desired effect.

Deserving praise.

An exclusive right or privilege

The action of interfering or the process of being
interfered with.

A limitation or restriction.

Come between so as to prevent or alter a result or
course of events.

Obtain (something) by force, threats, or other unfair means.

Behavior or speech that is indiscreet or displays a lack
of good judgment.

Cause

A statement of the beliefs or aims that guide someone's
actions.

A statement containing two opposite ideas logically
unacceptable though true.

An excessive amount of something.

A return of something after a period of abatement
Report or represent in outline.

Render obscure, unclear, or unintelligible.

Tediously lengthy

The action of persuading someone

Required as a prior condition.

Unusual; not typical.

099S55208888

Meaning in Hindi
k'] n.Mun;
loiPp Usk;ky;

fgr
eDr djuk

JoL;kn%vu
lo/kun) ,ofr;ir
led{li] Nwchu
foijhr ifj.le okyk
Ijigut;

fo* Kt/ dlj
n[kynkth] gLr{ki

clé; rk
glr{ki dju] n[ky nuk

fiQjkrh yuk] Nou dj yuk
v lo/kuh] vopifjd

dij.k
belu] Jvi

fojl/Hi

WR;H/d ekl e

1uh giu dh f@;k

o1 j[ ilrr djuk
vLi'V djul] Hfer djuk
vir folrr

vuu;é&fou;

vio*;d

v/ .k
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IBPS PO PHASE -I MOCK TEST - 57 (ANSWER KEY)

1. (4)
2. (5)
3. (4)
4. (4)
5 (2)
6. (3)
7. (3)
8. (5)
9. (2
10. (2)
11. (2)
12. (4)
13. (3)
14. (1)
15. (4)
16. (4)
17. (1)
18. (2)
19. (3)
20. (3)
21. (3)
22. (5)
23. (1)
24. (3)
25. (5)

26.
27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42,
43.
44,
45,
46.
47.
48.
49,
50.

(1)
(4)
(2)
(S)
(3)
(2)
3)
(1)
(S)
(4)
3)
(4)
(2)
(1)
(S)
(S)
(3)
3)
(3)
(1)
(3)
(2)
3)
(1)
(S)

51.
52.
53.
54.
55.

57.
58.
59.

61.
62.

&

N

(1)
(S)
(S)
(1)
(3)
(1)
3)
3)
(1)
(3)
(3)
(4)
(2)
(S)
(1)
(2)

. (2)
68.
69.
70.
71.
72.
73.
74.
75.

(1)
(3)
(4)
(1)
(2)
(3)
4)
(1)

76.
77.
78.
79.
80.
81.
82.
83.
84.
85.
86.
87.
88.
89.
90.
91.
92.
93.
94.
95,
96.
97.
98.
99.
100. (5)

(2)
4)
(3)
(1)
(S)
(S)
(3)
(S)
3)
(3)
(S)
(4)
(1)
(2)
(4)
(1)
(3)
()
(3)
(S)
(2)
(3)
4)
(1)

(Note:- If you face any problem regarding result or marks scored, please

contact 9313111777

)

(Note:- If your opinion differs regarding any answer, please message the mocla

test and question number to 8860330003

Ph:

09555108888,
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